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1. vleferh; eq[kkax fdlesa ik;k tkrk gS \ 
 

1. Asymmetrical mouthpart is found in : 

(A) eRdq.k  (A) Bug 

(B) fFkzIl  (B)  Thrips 

(C) ohfoy  (C)  Weevil 

(D) fVM~Mk  (D)  Grasshopper 

2. fdl ,d esa dkVus o pckus okys eq[kkax ik;s 

tkrs gSa \ 

 
2. Which one have biting and chewing 

mouthparts ? 

(A) tSflM  (A) Jassid 

(B) nhed  (B)  Termite 

(C) ekgw  (C)  Aphid 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

3. LVkbIl fdldk Hkkx gS \ 
 

3. Stypes is a part of : 

(A) yScze  (A) Labrum 

(B) ySfc;e  (B)  Labium 

(C) eSf.Mcqy  (C)  Mandible 

(D) eSfDlyk  (D)  Maxilla 

4. Vkjll fdlls lEcfU/kr gS \ 
 

4. Tarsus is related with : 

(A) iSj  (A) Leg 

(B) ia[k  (B)  Wing 

(C) flj  (C)  Head 

(D) mi;qZDr lHkh  (D)  All of the above 
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5. f’kdkj idM+us okyh Vk¡x fdlesa ik;h tkrh gS \ 
 

5. Raptorial type leg is found in : 

(A) fVM~Mk  (A) Grasshopper 

(B) eSafVM  (B)  Mantid 

(C) e/kqeD[kh  (C)  Honeybee 

(D) ?kjsyw eD[kh  (D)  Housefly 

6. ?kjsyw eD[kh esa fpidus okyk iSj gS % 
 

6. Sticking leg of housefly is : 

(A) vxz ikn  (A) Fore leg 

(B) e/; ikn  (B)  Middle leg 

(C) i’p ikn  (C)  Hind leg 

(D) leLr ikn  (D)  All the legs 

7. VsXehuk ia[k ik;k tkrk gS % 
 

7. Tegmina wing is found in : 

(A) chVy esa  (A) Beetle 

(B) ?kjsyw eD[kh esa  (B)  Housefly 

(C) fVM~Ms esa  (C)  Grasshopper 

(D) mi;qZDr lHkh  (D)  All of the above 

8. MªSxu ¶ykbZ esa fdl izdkj dk ia[k ik;k tkrk 

gS \ 

 
8. Which kind of wing is found in dragonfly ? 

(A) VsXehuk  (A) Tegmina 

(B) f>Yyhnkj  (B)  Membranous 

(C) gkYVj  (C)  Halter 

(D) ‘kYdh  (D)  Scaly 
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9. fuEufyf[kr esa ls dkSu&lk eq[; f’kjk gS \ 
 

9. Which of the following is principal vein ? 

(A) dksLVk  (A) Costa 

(B) jsfM;l  (B)  Radius 

(C) D;wfcVl  (C)  Cubitus 

(D) mi;qZDr lHkh  (D)  All of the above 

10. ,EIysDlhQkeZ ia[k la;ksth midj.k fdlesa 

ik;k tkrk gS \ 

 
10. Amplexiform wing coupling apparatus is 

found in : 

(A) frryh  (A) Butterfly 

(B) e/kqeD[kh  (B)  Honeybee 

(C) MªSxu¶ykbZ  (C)  Dragonfly 

(D) mi;qZDr lHkh  (D)  All of the above 

11. fVM~Ms ds fdl mnjh; [kaM ij uj tuu vax 

ik;k tkrk gS \ 

 
11. In which abdominal segment of 

grasshopper male genitalia is found ? 

(A) 8osa  (A) 8th 

(B) 9osa  (B)  9th 

(C) 10osa  (C)  10th 

(D) 11osa  (D)  11th 

12. ljlkbZ fdldk mikax gS \ 
 

12. Cerci is an appendage of : 

(A) flj  (A) Head 

(B) o{k  (B)  Thorax 

(C) mnj  (C)  Abdomen 

(D) mi;qZDr lHkh  (D)  All of the above 
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13. fdl dhV esa vaMjksid Mad esa ifjofrZr gks 

tkrk gS \ 

 
13. In which insect ovipositor is modified 

into sting ? 

(A) e/kqeD[kh  (A) Honeybee 

(B) cjsZ  (B)  Wasp 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

14. dhV dh vkgkjuyh fdrus Hkkxksa esa foHkkftr 

gksrh gS \ 

 
14. The alimentary canal of insect is divided 

into : 

(A) nks   (A) Two parts 

(B) rhu   (B)  Three parts 

(C) pkj   (C)  Four parts 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

15. isjhVªkWfQd f>Yyh ik;h tkrh gS % 
 

15. Peritrophic membrane is found in : 

(A) vxz iz.kkyh esa  (A) Fore gut 

(B) e/; iz.kkyh esa  (B)  Mid gut 

(C) i’p iz.kkyh eas  (C)  Hind gut 

(D) ykj xzfUFk eas  (D)  Salivary gland 
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16. baVhek ik;h tkrh gS % 
 

16. Intima is found in : 

(A) vxz iz.kkyh esa  (A) Fore gut 

(B) e/; iz.kkyh esa  (B)  Mid gut 

(C) i’p iz.kkyh esa  (C)  Hind gut 

(D) vxz o i’p iz.kkyh esa  (D)  Fore and Hind gut 

17. e/; iz.kkyh i’p iz.kkyh esa fdlds }kjk 

[kqyrh gS \ 

 
17. Mid gut opens in hind gut through : 

(A) ik;yksfjd okYo  (A) Pyloric valve 

(B) dkfMZ,d okYo  (B)  Cardiac valve 

(C) izksosUVªhdqyj okYo  (C)  Proventricular valve 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

18. vxz iz.kkyh dks ;g Hkh dgk tkrk gS % 
 

18. Fore gut is also called : 

(A) izksDVksfM;e  (A) Proctodaeum 

(B) eslsUVsjkWu  (B)  Mesenteron 

(C) LVkseksfM;e  (C)  Stomodaeum 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

19. LFkyh; dhVksa dk eq[; mRlthZ mRikn dkSu&lk 

gS \ 

 
19. Which is the main excretory product of 

terrestrial insects ? 

(A) veksfu;k  (A) Ammonia 

(B) ;wfjd vEy  (B)  Uric acid 

(C) ukbVªsV  (C)  Nitrate 

(D) U;wfDyd vEy  (D)  Nucleic acid 
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20. gheksfyEQ esa ikuh dh ek=k gksrh gS % 
 

20. Haemolymph contains water : 

(A) 20-30%  (A) 20-30% 

(B)  50-60%  (B)  50-60% 

(C)  70-80%  (C)  70-80% 

(D)  80-90%  (D)  80-90% 

21. gheksfyEQ fny esa fdlds }kjk izos’k djrk  

gS \ 

 
21. The haemolymph enters the heart through : 

(A) budjsaV vkWfLV;k  (A) Incurrent ostia 

(B) ,DldjsaV vkWfLV;k  (B)  Excurrent ostia 

(C) ,vksjVk  (C)  Aorta 

(D) mi;qZDr lHkh  (D)  All of the above 

22. bQjsaV U;wjkWu dks ;g Hkh dgk tkrk gS % 
 

22. Efferent neuron is also called : 

(A) laosnh U;wjkWu  (A) Sensory neuron 

(B) xked U;wjkWu  (B)  Motor neuron 

(C) lkgp;kZRed U;wjkWu  (C)  Associational neuron 

(D) mi;qZDr lHkh  (D)  All of the above 

23. dkSu&lk lcls cM+k efLr”d dgykrk gS \ 
 

23. Which one is called biggest brain ? 

(A) izksVkslsjscze  (A) Protocerebrum 

(B) M~;wVkslsjscze  (B)  Deutocerebrum 

(C) VªkbVkslsjscze  (C)  Tritocerebrum 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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24. ,DlkWu fdldk Hkkx gS \ 
 

24. Axon is a part of : 

(A) la;qDr us=  (A) Compound eye 

(B) ljy us=  (B)  Simple eye 

(C) U;wjkWu  (C)  Neuron 

(D) VªSfd;k  (D)  Trachea 

25. eknk dhVksa esa fdrus vaMk’k; ik;s tkrs gSa \ 
 

25. How many ovaries are found in female 

insects ? 

(A) ,d  (A) One 

(B) nks  (B)  Two 

(C) rhu  (C)  Three 

(D) pkj  (D)  Four 

26. fuEufyf[kr esa ls dkSu&lk uj tuu ra= dk 

Hkkx gS \ 

 
26. Which of the following is the part of male 

reproductive system ? 

(A) okl fMQjsal  (A) Vas deferens 

(B) okl bQjsal  (B)  Vas efferens 

(C) VsLVhl  (C)  Testes 

(D) mi;qZDr lHkh  (D)  All of the above 
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27. ,d ,slh fLFkfr ftlesa ,d vaMs ls dbZ larkusa 

mRiUu gksrh gSa] dgykrk gS % 

 
27. A condition where one egg produces 

several offsprings is called : 

(A) vksoksfofoiSfjVh  (A) Ovoviviparity 

(B) ikFksZukstsusfll  (B)  Parthenogenesis 

(C) ikWyh,fEcz;ksuh  (C)  Polyembryoni 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

28. lkekU;r% dhV gksrs gSa % 
 

28. Generally insects are : 

(A) ,dfyaxh  (A) Unisexual 

(B) f}fyaaxh  (B)  Bisexual 

(C) nksuksa (A) vkSj (B)   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

29. ‘okl uyh dh ckgjh vksiÇux gS % 
 

29. The external opening of trachea is : 

(A) ,vksjVk  (A) Aorta 

(B) ‘okl ja/kz  (B)  Spiracle 

(C) VªSfd;ksy  (C)  Tracheole 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

30. VªSfd;k dh iryh ‘kk[kkvksa dks dgrs gSa % 
 

30. The finer branches of trachea is called : 

(A) VsusfM;e  (A) Taenidium 

(B) VªSfd;ksy  (B)  Tracheole 

(C) bUVhek  (C)  Intima 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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31. VªSfd;k esa bafVek ds xksykdkj NYyksa dk gksuk 

dgykrk gS % 

 
31. Spiral fold of intima in trachea is called : 

(A) VsusfM;k  (A) Taenidia 

(B) VªSfd;ksy  (B)  Tracheole 

(C) ,;j lSd  (C)  Air sac 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

32. I;wik dh voLFkk fdl izdkj ds dk;kUrj.k esa 

ik;h tkrh gS \ 

 
32. In which type of metamorphosis pupal 

stage is evident ? 

(A) ,esVkcksyk  (A) Ametabola 

(B) gsehesVkscksyk  (B)  Hemimetabola 

(C) gksyksesVkcksyk  (C)  Holometabola 

(D) mi;qZDr lHkh  (D)  All of the above 

33. fuEufyf[kr esa ls dkSu&lk ,d dEiksMhQkeZ 

ykokZ dk mnkgj.k gS \ 

 
33. Which one of the following is an example 

of compodeiform larva ? 

(A) dkWDlhusyk dk ykokZ  (A) Coccinella larva 

(B) ‘osr fxMkj  (B)  White grub 

(C) pus dk Qyh cs/kd ykokZ  (C)  Gram pod borer larva 

(D) mi;qZDr lHkh  (D)  All of the above 
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34. dSVjfiyj gksrs gSa % 
 

34. Caterpillars are : 

(A) izksVksiksM ykokZ  (A) Protopod larva 

(B) vksfyxksiksM ykokZ  (B)  Oligopod larva 

(C) ikWyhiksM ykokZ  (C)  Polypod larva 

(D) ,iksM ykokZ  (D)  Apod larva 

35. nks tksM+h mnjh; ikn ik;s tkrs gSa % 
 

35. Two pairs of abdominal legs are found  

in : 

(A) dSVjfiyj esa  (A) Caterpillar 

(B) lsehywij esa  (B)  Semilooper 

(C) ywij esa  (C)  Looper 

(D) mi;qZDr lHkh  (D)  All of the above 

36. oSKkfud uke eqfnzr fd;k tkuk pkfg, % 
 

36. Scientific name should be printed  

in : 

(A) cM+s v{kjksa esa  (A) Capital letters 

(B) bVSfyd v{kjksa eas  (B)  Italic letters 

(C) NksVs v{kjksa esa  (C)  Small letters 

(D) mi;qZDr lHkh  (D)  All of the above 
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37. tyh; dhVksa ds f’k’kq dks dgrs gSa % 
 

37. The nymph of aquatic insects is called : 

(A) uk;M  (A) Naiad 

(B) Øk;lsfyl  (B)  Chrysalis 

(C) xzo  (C)  Grub 

(D) tqosukby  (D)  Juvenile 

38. vfjLVsV izdkj dh Ük`afxdk ik;h tkrh gS % 
 

38. Aristate type antennae is found in : 

(A) ‘osr eD[kh eas  (A) White fly 

(B) vkjk eD[kh eas  (B)  Sawfly 

(C) ?kjsyw eD[kh eas  (C)  Housefly 

(D) mi;qZDr lHkh  (D)  All of the above 

39. x.k fMIVsjk ds ykokZ dks dgrs gSa % 
 

39. The larva of order Diptera is  

called : 

(A) xzo  (A) Grub 

(B) eSxV  (B)  Maggot 

(C) ywij  (C)  Looper 

(D) lsehywij  (D)  Semilooper 
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40. ‘kyHk o frryh fdl x.k ds vUrxZr vkrs 

 gaS \ 

 
40. Moth and butterfly belong to the  

order : 

(A) ysfiMksIVsjk  (A) Lepidoptera 

(B) dksfy;ksIVsjk  (B)  Coleoptera 

(C) gk;esuksIVsjk  (C)  Hymenoptera 

(D) gsehIVsjk  (D)  Hemiptera 

41. /kku ds fVM~Ms dk dqy gS % 
 

41. Rice grasshopper belongs to family : 

(A) eSafVMh  (A) Mantidae 

(B) ik;fjMh  (B)  Pyridae 

(C) xzk;fyMh  (C)  Gryllidae 

(D) ,ØhfMMh  (D)  Acrididae 

42. nhed fdl x.k ds vUrxZr vkrk gS \ 
 

42. Termite belongs to order : 

(A) dksfy;ksIVsjk  (A) Coleoptera 

(B) fMIVsjk  (B)  Diptera 

(C) vkblksIVsjk  (C)  Isoptera 

(D) Fkk;lsuksIVsjk  (D)  Thysanoptera 
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43. fdl x.k esa pqHkksus o pwlus okyk eq[kkax ik;k 

tkrk gS \ 

 
43. In which order piercing and sucking 

mouthpart is found ? 

(A) gsehIVsjk  (A) Hemiptera 

(B) ysfiMksIVsjk  (B)  Lepidoptera 

(C) vkFkksZIVsjk  (C)  Orthoptera 

(D) vksMksukVk  (D)  Odonata 

44. Vkjll ds vfUre [kaM dks dgrs gSa % 
 

44. The last tarsal segment is called : 

(A) Vkjll  (A) Tarsus 

(B) cslhVkjll  (B)  Basitarsus 

(C) izhVkjll  (C)  Pretarsus 

(D) VªksdSaVj  (D)  Trochanter 

45. /kku dk xU/kh cx fdl dqy ds vUrxZr vkrk 

gS \ 

 
45. Rice gundhy bug belongs to family : 

(A) ,ØhfMMh  (A) Acrididae 

(B) fldSMsfyMh  (B)  Cicadellidae 

(C) dksfjMh  (C)  Coreidae 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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46. vkFkzksZiksM dk ‘kkfCnd vFkZ gS % 
 

46. The literal meaning of arthropod is : 

(A) la;qDr ‘kjhj  (A) Jointed body 

(B) la;qDr iSj  (B)  Jointed leg 

(C) la;qDr Üka`fxdk  (C)  Jointed antenna 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

47. ekbZV fdl oxZ ds vUrxZr vkrk gS \ 
 

47. Mites belong to class : 

(A) bUlsDVk  (A) Insecta 

(B) dkbyksiksMk  (B)  Chilopoda 

(C) fMIyksiksMk  (C)  Diplopoda 

(D) vjsfDuMk  (D)  Arachnida 

48. dhVksa esa fdrus iSj ik;s tkrs gSa \ 
 

48. How many legs do insects have ? 

(A) nks tksM+h  (A) Two pairs 

(B) rhu tksM+h  (B)  Three pairs 

(C) pkj tksM+h  (C)  Four pairs 

(D) ik¡p tksM+h  (D)  Five paris 

49. fdl o{kh; [kaM ij ia[k ik;s tkrs gSa \ 
 

49. On which thoracic segment wings are 

found ? 

(A) vxzo{k  (A) Prothorax 

(B) e/;o{k  (B)  Mesothorax 

(C) vxz o e/;o{k  (C)  Pro and Mesothorax 

(D) e/; o i’po{k  (D)  Meso and Metathorax 
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50. la;qDr us= fdldk mikax gSa \ 
 

50. Compound eyes are appendages of : 

(A) flj  (A) Head 

(B) o{k  (B)  Thorax 

(C) mnj  (C)  Abdomen 

(D) mi;qZDr lHkh  (D)  All of the above 

51. fuEufyf[kr esa ls dkSu&lh dks’kkghu irZ gS \ 
 

51. Which of the following is non-cellular 

layer ? 

(A) ,fiD;wfVdy  (A) Epicuticle 

(B) ,DtksD;wfVdy  (B)  Exocuticle 

(C) ,.MksD;wfVdy  (C)  Endocuticle 

(D) mi;qZDr lHkh  (D)  All of the above 

52. D;wfVdy dh lcls eksVh irZ gS % 
 

52. Thickest layer of cuticle is : 

(A) ,fiD;wfVdy  (A) Epicuticle 

(B) ,DtksD;wfVdy  (B)  Exocuticle 

(C) ,.MksD;wfVdy  (C)  Endocuticle 

(D) D;wVhdqfyu  (D)  Cuticulin 

53. dhVksa ds ‘kjhj ds i`”B ry ij ik;s tkus okys 

LDysjkbV~l dks dgrs gSa % 

 
53. Dorsal sclerites on insects body are called : 

(A) VjxkbV~l  (A) Tergites 

(B) LVukZbV~l  (B)  Sternites 

(C) IY;wjkbV~l  (C)  Pleurites 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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54. v/kksUeq[kh flj ik;k tkrk gS % 
 

54. Hypognathous head is found in : 

(A) eRdq.k esa  (A) Bug 

(B) nhed eas  (B)  Termite 

(C) fVM~Mk esa  (C)  Grasshopper 

(D) mi;qZDr lHkh  (D)  All of the above 

55. fdl LDysjkbV dks dhV ds flj dh ik’oZ 

nhokj dgrs gSa \ 

 
55. Which sclerite is called the lateral wall of 

insect’s head ? 

(A) ÝkWUl  (A) Frons 

(B) thuk  (B)  Gena 

(C) oVsZDl  (C)  Vertex 

(D) Dykbfi;l  (D)  Clypeus 

56. fdl x.k esa Ük`afxdk ugha ik;h tkrh gS \ 
 

56. In which order antenna is absent ? 

(A) izksV~;wjk  (A) Protura 

(B) Mk;Iywjk  (B)  Diplura 

(C) dksysEcksyk  (C)  Collembola 

(D) Fkk;lsuqjk  (D)  Thysanura 

57. ‘kwdkdkj Ük`afxdk fdlesa ik;h tkrh gS \ 
 

57. Setaceous antenna is found in : 

(A) fVM~Mk  (A) Grasshopper 

(B) nhed  (B)  Termite 

(C) ‘kyHk  (C)  Moth 

(D) frypV~Vk  (D)  Cockroach 
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58. e/kqeD[kh esa fdl izdkj dh Ükàfxdk ik;h tkrh 

gS \ 

 
58. Which type of antenna is found in 

honeybee ? 

(A) dksguhnkj  (A) Geniculate 

(B) jksenkj  (B)  Plumose 

(C) nUrkdkj  (C)  Serrate 

(D) izo/kZuh  (D)  Stylate 

59. eSfDlyk dks ;g Hkh dgk tkrk gS % 
 

59. Maxilla is also called : 

(A) Åijh vks”B  (A) Upper lip 

(B) fupyk vks”B  (B)  Lower lip 

(C) Åijh tcM+k  (C)  Upper jaw 

(D) fupyk tcM+k  (D)  Lower jaw 

60. dhVksa esa eSafMcqy dh la[;k gksrh gS % 
 

60. The number of mandible in insects is : 

(A) ,d  (A) One 

(B) nks  (B)  Two 

(C) rhu  (C)  Three 

(D) pkj  (D)  Four 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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